

St Mary MacKillop College





87 QUEEN STREET BUSSELTON WA 6280 M: 0490935625 PH: 9752 1240 FAX: 9752 4707 Facebook: Callows Corner News EMAIL: <u>SCHOOL@CALLOWS.COM.AU</u> ABN: 79552390561

## ST MARY MACKILLOP COLLEGE 2022 BOOKLIST INFORMATION

#### **ORDERING: OPTIONS**

• ORDER ONLINE at: <u>www.callows.com.au</u> then click on <u>"School Booklists"</u> By Monday, 13th December 2021.

Your <u>ACCESS CODE</u> for ordering online is SMMC2022.

(PLEASE CHECK: Confirmation and Approved Payment: Please print a copy of your order.

OR

- ORDERS MAY BE PLACED and PREPAID at: CALLOWS OFFICE CHOICE, 87 Queen Street, BUSSELTON BEFORE Monday, 13th December 2021 between 9.00am – 5.00pm (Monday to Friday)
- Back to school pricing and product will be available in-store from 1 January 2022.

#### **DELIVERY: OPTIONS:**

• **PRE-PACKED ORDERS** can be delivered to you via AUSTRALIA POST under Australia Post normal DELIVERY arrangements for your area at a cost of \$7.95 (to be paid when ordering).

If you elect to have your order delivered, please fill out the HOME DELIVERY FORM attached.

Booklists will be delivered during January 2022.

OR

• You may elect to collect your Stationery Order from: CALLOWS Back-to-School Stationery Warehouse, Frederick Street in the LIA (Map inc. online). Orders will be available for collection on:

Monday 24th January 2022 and Tuesday 25th January 2022 between 9.00am and 4.00pm.

#### CREDIT/REFUND/EXCHANGE/RETURNS:

MUST be accompanied by a receipt.

**Stationery items:** Refund or exchange on any goods deemed faulty from the manufacturer until the end of WEEK 1 of school commencing.

**Refunds/exchange on TEXTBOOKS ONLY in NEW condition:** until 14 February 2022 or 2 weeks after the purchase date (whichever is later).

If a particular product is unavailable from our supplier, we will substitute with a product of similar/ better quality at the same price quoted.

Purchasing your orders through CALLOWS SCHOOLSMART benefits your school and ensure the correct items are supplied. PLEASE RETAIN YOUR RECEIPTS AS PROOF OF PURCHASE/PAYMENT OF FEES.

### HOME DELIVERY FORM: (PLEASE PRINT CLEARLY) PLEASE NOTE NO RMB PARCEL DELIVEREIES

NAME:	
STREET: (Number)	(Name)
SUBURB:	STATE: WA POSTCODE:
CONTACT PERSON:	CONTACT NUMBER:
	DELIVERY FEE PAID



## **INSTRUCTIONS**

After placing your booklist order and you are in the payment section and if you wish to pay using Zip Pay, please type in **"Yes** to Zip Pay" in the Zip Pay payment box.

New Tab	🗙   🍯 booklists.com.au Administrati: 🗙   👺 Orders   Zip 🛛 🗙   🦉	Callows Office Choice × S Callows Corner News, back to × +	
$\leftrightarrow$ $\rightarrow$ $\mathbf{C}$ $\cong$ booklis	ts.com.au/bl2/?l=-		⊶ ☆ ⊒ ❷ :
	Craig, your order to Please choose from one of the fo		
	Pay online using Secure Payment Gateway	OR Pay online using your Zippay Account	
	CALLOWS SCHOOLSMART	Pay online using Your Zippay Account Enter your instore 6 digit code:	
	Order Information Name: Craig Lyon	Pay with Zippay.	
	Phone Number: 0439944468 Email: lyon69@bigpond.com	or Click here to set up a Zippay account.	
	Order Number: Order2480 Amount: \$56.40 Make Payment	<b>Z</b> zip	
	SecurePay		
<	Callows Warehouse Disclaimer Privacy Policy Terms of	I Use Returns policy. Powered by www.booklists.com.au	1
🖬 🔎 O 🖽	🖩 🥶 🚊 💻 🕞 💻 🖉 🧕	~ 10 C	4:19 PM 6/09/2020

- 1. Within 24 hours of you placing your booklist order we will send you a link to your mobile
- 2. Click on the link ( this is valid for 24 hours)
- 3. Either apply for an account or if you already have an account set up, just log in to your account accordingly.
- 4. Callows Office Choice will appear on your screen with the amount of your purchase. Proceed to the bottom of your screen to locate the button **"CONFIRM"** and click to confirm.

If you do not have a Zip account, click the link, apply for an account, login and CONFIRM.

## **ATTENTION PARENTS**

A confirmation email will be sent to you with a copy of your order for your records.

## **COVID MESSAGE TO PARENTS**

We strongly encourage parents to place your orders online to avoid overcrowding and delays in store, due to COVID requirements and limited space.

# THANK YOU FOR YOUR SUPPORT







CALLOWS OFFICE CHOICE 87 Queen Street BUSSELTON 6280

**CALLOWS BTS WAREHOUSE** 31 Fairlawn Road BUSSELTON 6280 Phone: 08 9752 1240 ABN: 79552390561

## **ST MARY MACKILLOP COLLEGE YEAR 4**

Students Name	Phone
Parents Name	Email

Item	Code	Please tick required items	Qty	Price ea	Subtotal
PERSONAL REQUIREMENTS					
CLIPFOLDER MARBIG A4 PE ASSTD COLOURS	4300099		1	3.30	\$3.30
CRAYON TEXTA ZOOM PK 12	49875		1	5.80	\$5.80
DISPLAY BOOK MARBIG A4 20 PAGE REFILLABLE ASSTD COLS	2007099		1	1.50	\$1.50
<i>1x Italian &amp; 1 x Music</i> DISPLAY BOOK COLOURHIDE REFILLABLE A4 20 PAGE ASSTD COLS	200280A		4	4.00	\$16.00
DOCUMENT WALLET MARBIG PP F/C VELCRO W/GUSSE	T RED 2011003		2	1.15	\$2.30
DOCUMENT WALLET MARBIG PP F/C VELCRO W/GUSSET CLEAR	2011012		1	1.15	\$1.15
ERASER FABER CASTELL LARGE DUST FREE ( <i>No correction fluid permitted</i> )	82-187177		4	0.55	\$2.20
GLUE STIC UHU 40GM	21516		7	2.60	\$18.20
HIGHLIGHTER FABER TEXTLINER FROSTED GREEN	14052		1	1.05	\$1.05
HIGHLIGHTER FABER TEXTLINER FROSTED YELLOW	14048		1	1.05	\$1.05
PEN ARTLINE 210 MEDIUM 0.6mm BLACK	121001		3	2.27	\$6.81
MARKER ARTLINE 70 PERM 1.5mm BULLET NIB BLACK	107001		1	2.85	\$2.85
MARKER FABER PROJECT/SKETCH PK 12	70885		1	2.05	\$2.05
PEN BIC BP CRISTAL MED RED	04242		4	0.35	\$1.40
PEN BIC BP CRISTAL MED BLUE	04243		2	0.35	\$0.70
PEN TEXTA FINELINER POINT 188 0.4mm BLACK	10022		2	2.00	\$4.00
PENCIL COLOURED FABER CLASSIC 12`S + GOLD	16-115852-G		1	3.90	\$3.90
PENCIL GRAPHITE GOLDFABER 1221 HB	11-112500		10	0.40	\$4.00
RECORDER MUSICAL SOVEREIGN	34510		1	5.80	\$5.80
RULER CELCO 30cm WOODEN UNPOLISHED	0321740		1	0.55	\$0.55
SCISSORS MICADOR #470 165mm YELLOW HANDLE	SCR470W		1	2.63	\$2.63
If your child is left handed please select scissors at the end of this	list.				
SHARPENER MAPED TONIC DBLE METAL with CONTAINE	ER8506900		1	4.80	\$4.80
STICK-ON NOTES BANTEX 76mm*76mm YELLOW Single p	oad 1030-s		2	0.70	\$1.40
WHITEBOARD MARKER FABER CONNECTOR RED	67-1592-21		1	1.80	\$1.80
WHITEBOARD MARKER FABER CONNECTOR BLUE	67-1592-51		2	1.80	\$3.60
WHITEBOARD MARKER FABER CONNECTOR BLACK	67-1592-99		4	1.80	\$7.20
SCISSORS MICADOR #300 LEFT HANDED GREEN HDLE 165 MM	MO37344		1	3.10	
SUBTOTAL					\$106.04
HANDLING/PACKAGING FEE Mandatory fee for all pre-packed orders	H/PK		1	3.00	\$3.00
SUBTOTAL					\$3.00

#### ST MARY MACKILLOP COLLEGE YEAR 4

PARENTS TO SUPPLY					
1 x Clear Mesh A4 Case Zipper: 1 x Material Library Bag (Named) : 2 x Family Boxes of Tissues					
1 X Durable Homework Folder : 1 x Headphone : 1 x Tablet Stylus					
PLEASE COVER SCRAPBOOKS					
ALL ITEMS OF CLOTHING & EQUIPMENT MUST BE CLEARLY MARKED					
DELIVERY FEE	Delivery		1	7.95	\$7.95

ORDER TOTAL:

PLEASE NOTE: To guarantee prices quoted and supply of all items, please ensure orders are placed by due date. PLEASE RETAIN YOUR RECEIPTS AS PROOF OF PURCHASE and/or PAYMENT OF CONTRIBUTIONS. ORDER ONLINE OR BACK-TO-SCHOOL PRICING/ITEMS AVAILABLE IN STORE from 1st of January 2022

OFFICE USE ONLY: